Unit 3 Lesson o

UL \M \m\\

Note . @@ W\% iy we are o

Aty Aty
) 2,45 9t
m\ %\ %\ = /A x# -3
- R+45 3

2
= 3o~ —(H4a+

- “\!\ L
pond Wﬁﬂ«\\ inx*%%..nﬂN . , / ; ‘
* \m\\W\?\
= "a-3 L a+#o
a

e X+4 , A

Y 53 . 2-3
Nﬁm\* | 24/ % WWWW. %WHJ.
= E 3 wﬂnw .sa\, n%wmﬂw\mmhuwﬁwﬁ
xel = S52-2+3 3&%%&%&@?
mWL
+




Bos P2l 3l py il

UL \m%m\_*
20 Aol

+ W&%M@
24 51t b ¥ 5%+ b
- Txt+3 | o |
A TN+ B need o Jackes dene ;
= Jxt? k= =3 to dtnume teattactions
(2+D(ar3) 2 1

& Can lewe answer with detominator
, | xgwm o8 o
30 Lem - owest Common w&ﬁ@hmf@mm&

OKM% hke ﬁxﬁcﬁw lowest cemmen denom

£

L .
9,56 LM is O
) 8,/0,/12 \ |
%wwhxm\“%ww LCA) /s wwxmu«,w

= /R0
4a) AX 4 X | p
MUE& N\% mrm%
| //f\\\\l.) 1 redicce Lyd
_ 3lax)+ () Concld. e e List
. b , Wm!.wm
lox+ R 23
= — X 4 XK |
— AA+x
=
3.

LCD is /o




*w_ 53 F5-6(200), py 60 % Ua L4 wwm&
5a) dAmr3 . Bm+¥ repisld o y-5_ 2y-=3 LDis
= T - R
_ 7 am+3)+ 2(3m +4)
- Hm+dl+m+& 2 7
I — Ay-10— by+]
- A0m+ L9 ~
/7 - iy
B
€) 441 , 3£+ _ 2]
o 2 =
\ LCDE
_ Hh -+ 33k2) -2 (24+D)
G |
- HE-14 mwmwimf%%zp
- 94+3
b
_ 3kt
o
M\v Sx=! 4 [ — QNYW
5 A |
| ) DTS &0
- b(5sl) + 30 — 5(4%-3)
30
— 30x-b +30—20%x+/5
30
- Ox +39
m&mv 3 » Py mww 4 —2 4 a-+ 3
2-x T x—x 7a-3 & 3-Xa
N A—a. Ao —> La~>
- d s KF 2L =~ 4a-2-a=3
x- 2 [a -3
= 23 G F 2




= Qw@ﬁm/..t =

«@f&m D~ —d >~

- %&3*%(

2 %%s? m@
K

Wmm

UL mwﬂm\
%M \% ..nnww)xawu N= M.WH\..
- ld+N*
o




